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The given ogive represents the heights of workers (in cm) in a factory.
" Find the number of workers whose height is less than153 cm
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The given ogive represents the heights of workers (in cm) in a factory.
" Find the number of workers whose height is more than191 cm
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The marks obtained by 71 students in an examination are shown in the given ogive.
" Find the number of students who obtained less than25marks in the examination.
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The marks obtained by 66 students in an examination are shown in the given ogive.
" Find the number of students who obtained more than15marks in the examination.
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The marks obtained by 71 students in an examination are shown in the given ogive.
" Find the number of students who obtainedlessthan95 marks in examination.
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The marks obtained by 68students in an examination are shown in the given ogive.
" Find the number of students who obtained morethan 10 marks in examination.
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Heights of 76 students (in cm) are shown in the given ogive.
" Find the number of studentswhose height ismorethan153 cm
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Heights of 53 students (in cm) are shown in the given ogive.
" Find the number ofstudentswhose height islessthan162 cm
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Heights of 55 plants (in cm) are shown in the given ogive.
" Find the number of plantswhose height ismorethan84 cm
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Heights of 54 plants (in cm) are shown in the given ogive.
" Find the number of plantswhose height islessthan78 cm
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Ages of 62 students (in years) are shown in the given ogive.
" Find the number of studentswhose age ismorethan50 years
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Ages of 75 students (in years) are shown in the given ogive.
" Find the number ofstudentswhose age islessthan44 years
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Scores of 93 students are shown in the given ogive.
" Find the number of students whose score ismorethan 52
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Scores of 70 students are shown in the given ogive.
" Find the number of studentswhose score islessthan40
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Rainfall of 75 days (in mm) are shown in the given ogive.
" Find the number ofdayswhere the rainfall ismorethan75 mm
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Rainfall of 73 days (in mm) are shown in the given ogive.
" Find the number of dayswhere the rainfall islessthan17 mm
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Temperatures of 47 days (in °C) are shown in the given ogive.
" Find the number ofdayswhere the temperature ismorethan33 °C
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Temperatures of 84 days (in °C) are shown in the given ogive.
" Find the number ofdayswhere the temperature islessthan51 °C
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Weights of 90 students (in kg) are shown in the given ogive.
" Find the number ofstudents whose weight ismorethan 69 kg
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Weights of 74 students (in kg) are shown in the given ogive.
" Find the number ofstudentswhose weight islessthan62 kg
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Daily wages of 70 labourers (in X) are shown in the given ogive.
" Find the number oflabourers whose wage ismorethan3354
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Daily wages of 47 labourers (in X) are shown in the given ogive.
" Find the number oflabourerswhose wage islessthan3285
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Heights of 67 students (in cm) are shown in the given ogive.
" Find the number of studentswhose height ismorethan140 cm
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